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Mathematics Mega Quiz for RRB NTPC

Q2. In a right-angled triangle XYZ right-angled at Y. If XY = 2/6 and XZ -~ YZ =2, then sec X + tan X is

THAHIOT ST XYZ H Y 9% FHE07 a9a71 7. Jha XY = 26 3R xZ-¥2 =12, AT sec X + tan X FT AT gT.
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Q3.In AABC, B =90°and AB : BC = 2 : 1, Then value of (Sin A + Cot C)
AABC ¥, 2B =90° 37 AB:BC=2:1,(Sin A+ Cot C)FTHIT &
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Q5.If7sina=24cosa:0<(x{
?1'%7sina=24cosa:0<a{f' T T AT 14 tan o - 75 cos a - 7 sec o & TG B.
(a)3
(b) 4
(01
(d) 2

" then the value of 14 tan o - 75 cos a - 7 sec a is equal to

V3

Q6. If tan 0 = 3 sin 0, then the value of (sin® 8 - cos® 0) is

V3
7tz V7 tan 6 =3 sin 0, T (sin? O - cos? @) FT HI ZM.
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Q7. If sin ¥ then the value of sec 8 - cos 8 is (where 0° < 8 < 90°)

= -1

6=- .
T7T sin dT sec O — cos O FT HIF gIIT. (STaf 0° < 6 < 90°)

(a) bvbh2 — g2

()
Vb3 + gt

(d) VBE — a?

B
Q8.IfsecO+tan B0 =2 + V2" then the value of sin 8 + cos 0 is;

/s o
T secO+tanBO=2+" " Tl sin O + cos O FT AT Ha=T SN2

2 | www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/

Q9. If A is an acute angle and cot A + cosec A = 3, then the value of sin A is
?JﬁAQ?FWEEIﬁ'UT%’EﬁTcotA+ cosec A = 3, T sin A T | gIT.

(a1

(b) 4/5

(c)3/5

(d)o

[ax]

Q10. If cosec 6 - cot — 2 the value of cosec 0 is;

T cosec 6 - cot® ~ 2 AT cosec O FT A 8-
17

(a) =8

(b) 2

(c) 28

49

(d) ia

Q11. Acando 75% of a job in 18 days and B can do 25% of the job in 12 days. If they work on it together,
in how many days can they do 75% of the job?

A Tl & #T 75% w18 fRAT § ¥ ThaT 8 3 B 3 w4 &1 25% F1F 12 oAt # % wewar g1 7w 9w
e 1 Fd €, AT a8 w1 A7 75% Tohar fam § & 9 22

(a) 16

(b)8

(c) 20

(d) 12

Q12. Area of 4 walls of a cuboid is 57 sq m, if its length is 5.5 m and height is 3 m. What is its breadth (in
m)?

T FATH 1 4 T2 H &ARA 57 a9 HieX g, e 3@l @ars 5.5 Hied g X FATS 3 HieT g1 ol
<FreTé (e #) e 27
(a) 4.5

(b) 4

()3

(d)3.5 RRB NTPC
2019

Q13. At 30% discount the selling price of an article is Rs 1050. What
is the selling price (in Rs) if the discount is 15%?

30% Te IT UH a&] F [@%T o7 1050 &9 gl IE I 15% g ar

o goor (70 #) e 22 Test Series | Books | eBooks

COMPLETE KIT

E;% ﬁgg 100+ Total Test
(c) 1100 1 English Printed Edition Book
(d) 1275 eBooks
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Q14. What is the fourth proportional to 336, 288 and 1617
336, 288 T 161 FT AT SATATIAH F4T &2

(a) 184

(b) 115

(c) 138

(d) 134

Q15. What is the average of all numbers between 9 and 90 which are divisible by 8?
8 7 farsiTea, 9 3T 90 &= THT HEATSH FT 3T fohadT 872

(a) 53

(b) 52

(c) 51

(d) 50

Q16. A trader had 630 kgs of rice. He sold a part of it at 15% profit and the rest at 8% profit, so that he
made a total profit of 12%. How much rice (in kgs)

did he sell at 8% profit?

T AT % IT9 630 TR 91ae 91 98 ST Tah 0 15% A1 A 0T 8% AT I 9=dT &, 3T I
12% T T ATH BIaT gl 8% ATH < 78 Toha«r =raer (BT ®) a=rar g7

(a) 270

(b) 300

(c) 280

(d) 290

Q17.50% of a = b, then b% of 40 is the same as of a.
a®50% =b, AT 40 FTb%, a® ______ F Fqa< gl

(a) 0.25

(b) 0.16

(c) 2

(d)o.2

Q18. Excluding stoppages, the speed of a train is 120 kmph and including stoppages, it is 50 kmph. For
how many minutes does the train stop per hour?

FITUST T BIEHT, o f T 120 FFT/Ee g ST F=iaust |igq, Tfa 50 FFfi/ser 81 o7 9 =er fha fee
T 872

(a) 25

(b) 40

(c) 35

(d) 20
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Q19. The simple and compound interest that can be earned in two years at the same rate is Rs 4000 and
Rs 4180 respectively. What is the rate (percent per annum) of interest?

AT & U2 &7 JUl § Sforq dTemor 3 Fhdieg saTel w9 4000 %. ¥ 4180 %. gl AT Al &< (Tfaerd
wtaay) frawr g2

(a) 18

(b) 4.5

()9

(d)12

Q20. If 2x/3 - [5(4x/5 - 4/3)]/2 = 1/3, then what is the value of x?
Tt 2x/3 - [5(4%x/5 - 4/3)]/2 = 1/3 &, AT x FT AT FhadT 872

(a) 9/4

(b) 4/9

(c)-9/4

(d)-4/9

Q21. Lala has lent some money to Arun at 5% p.a. and Bhatia at 8% p.a. At the end of the year, he has
gained an overall interest at the rate 6%. In what ratio has he lent the money to Arun and Bhatia?

ATAT 7 TR AT 5% T a9 97 < ATIEAT T 8% T a0 T Fg G Q0. a9 & 3T H, IH 6% il 3T F T

TSt TR, T8 o7 Sl it 1 e st | g faan?
(a)2:1
(b)1:2
(c)3:2
@d3:1

Q22. The ratio of milk and water in mixtures of four containersare 5:3,2:1,3:2 and 7 : 4 respectively.
In which container is the quantity of milk, relative to water, minimum?

FTC FedA? 6 T § g8 ST qTHT 7 SAqTd FHT: 5: 3, 2: 1, 3: 2 3¥ 7: 4 2. o6 < § qT+T o aroey 3o i
HTAT TaH 7 87
(a) First
(b) Second
(¢) Third
(d) Fourth TEST SERIES
Bilingual

Q23. In a mixture of 25 litres, the ratio of acid to water is 4 : 1.
Another 3 litres of water is added to the mixture. The ratio of acid to

water in the new mixture is R R B N T P C

25 fiex & fo=or #, URE 8 911 &7 SAqTd 4: 1. [0 # {7 3 e

T STIET STTAT gl 7T fsqor § Ufee &7 971 § 997 & PREMIUM
(@)5:2 100+ TOTAL TESTS
(b)2:5

()3:5 Validity : 12 Months
(d)5:3
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Q24. A person borrows some money for 5 years and ratio of loan amount : total interest amount is 5 : 2
for one year. Then find the ratio of loan amount : interest rate is equal to:

T AT<h 5 a9 & o7 g 79T ST AaT § S U a9 | T Al 1Tz Fe ATl 0l 17 T ST 5: 2 2. v
ST T TTTLT : SATST &L AT SATATT FAT 62

(a)2:25

(b)2:1

(c)5:2

(d)25:2

Q25. Ramesh deposited Rs. 15600 in a fixed deposit at the rate of 10% per annum simple interest. After
every second year, he adds his interest earnings to the principal. The interest at the end of fourth year is
THT T 15600 FTT I T 10% AT SATS i 3C T FIATE STHT H STHT FHLdT 2. T 67 a9 & 918, 98
AT SATS I A § SIE <AqT g A qY o 3q H AT Tha T g

(a) Rs. 1716

(b) Rs. 1560

(c) Rs. 3744

(d) Rs. 1872

Q26. A sum of money at a certain rate per annum of simple interest doubles in the 5 years and at a

different rate becomes three times in 12 years. The lower rate of interest per annum is

U AT Treft |remeoer At it 2T 32 9% 5 99 | IRAT g1 SATAT g ST Uah oo &< 9% 12 9 H i [T
BT STt 2. ATTY & 4TS sl 7 &% Foha«t 82

(a) 1594

(b) 20%

3

© 1 54—%

16-%
(d -

Q27. 15 men take 20 days to complete a job working 8 hours a day. The number of hours a day should 20
men take to complete the job in 12 days

15 =frat &1 9T &7 8 =< FF Fd g0 UH &d Hl T Hed | 20 & d &, 20 AAAT 3T 12 &A1 &
FT T 2 & forg gid-fae fohae =ie & edr 3rteu?

(a) 5 hours

(b) 10 hours

(c) 15 hours

(d) 18 hours
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Q28. Having the same capacity 9 taps fill up a water tank in 20 EEEE NI
minutes. How many taps of the same capacity are required to fill up
the same water tank in 15 minutes?

THTT q9AT aTer 9 97 20 e § s qrt it Zoht 92 g1 T qr=t it
SRR IRerE et e e crecell CRACKER SERIES

Bilingual

N NTPC CBT-I
(b) 12 10 Full-Length Mocks
(©) 15

(d) 18 Validity : 12 Months

Q29. Raj and Ram working together do a piece of work in 10 days. Raj alone can do it in 12 days. Ram
alone will do the work in

TTST 3T T8 T A7 FH1F Fd g0 U F1d ol 10 &A1 § T2 €. s7ehet Tt =4 12 &A1 § F7 Fahar g, T 7o
TH FTF AT T faAT § e 2

(a) 20 days

(b) 40 days

(c) 50 days

(d) 60 days

Q30. A shopkeeper sold an item at 10% loss after giving a discount equal to half the marked price. Then
the cost price is

U THRFETE AT SiTohd ToF & FTa¥ ge ad & a18 10% g I Teh aq o= 1. a1 AR Hid g

(a) 1/9 th of marked price

(b) 4/9 th of marked price

(c) 5/9 th of marked price

(d) 7/9 th of marked price
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